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[bookmark: _GoBack]fundamental argument- basic ideas that as capitalism progressing, big companies innovating faster than others, finding way to monopolize in diff areas. with this ability, can drive people out of the market, stahl innov 

now everyone has a voice, through the internet of things, see people collect collective comments 


Rifkin says- capitalism is no longer sustainable. fundamental premise is that capitalism as we have known it is in inevitable decline, and will be replaced by something else, whether collaborative commons 

certain signs currently that suggest strongly that capitalism is in decline 
capitalist paradigm going to be replaced by another paradigm 
paradigm- set of beliefs and assumptions about the way the world works, which grow and develop and help shape the way we think about possibilities (ex. earth is flat, certain things follow from that belief) 
way of thinking about reality that influences behavior,what people do, what they don’t do, how people do it 

capitalist paradigm-  
over time, 
anomalies- things that can’t be understood within paradigm, these anomalies will become powerful enough so that is, what Kuhn calls, is a revolution 
one paradigm no longer sustain itself, anomalies can’t be accounted for in existing paradigm/doesn’t encompass "outside" 

Rifkin- enough anomalies so that these things accumulate, going to move to some other paradigm 

Rifkin trying to argue- capitalism in transition, paradigm is going to be replaced (sometime within next 50 years) and here are some of the things that he points to that are indicators  

· title of the book- what’s the structure of a near zero marginal cost economy
· diff periods of mass advancement
· transportation, communication, etc inner, scarcity of resources, he sees advances so scarcity of economic resources aren’t going to be same issue as before
· 0 marginal cost- goods can become free at a certain point
· marginal cost- cost of producing an additional unit of x
· if move near 0, that means that the cost of producing an additional unit becomes almost 0, almost free
· gvts would buy into these large fixed costs so that marginal costs will cost 0
· example- of something approaching zero marginal cost- 
· not sustainable to have economies bases largely on consumption of fossil fuels, think of alternatives
· streaming websites, like netflix, hulu

classmate question: 
some have to bear fixed costs to benefit the masses- 
what are the incentives for people to bear these large fixed costs- 

identify questions/reservations you have, try to figure them out 

taking unused capacity, mechanism to be used productively (i.e airbnb, uber) 

if move to 0 cost society, then not any money to fund innovation in new society  

Rifkin- he says doesn’t matter, have to give it for free. have to give away for free, should i? 
capitalism is paradigm, incentives getting paid 
shift- incentives- going to better others’ lives, my life (but how will creator/provider sustain himself) 
maybe you would not have mortgage under new paradigm,  entire vision of new society 

when does it shift when people start thinking differently? 
have to get to about 18% until it starts tipping over- where is that? 

economic rationality- rifkin argues, movement away from that traditional way of  thinking of econ rationality to a different form of rationality. struggle bc most of us grew up with set of beliefs, moving off that to a diff form is not easy 

argument he makes is multi-layered, complex, lots of moving parts (our brains) 

another piece of Rifkin’s argument:  

things can be produced at near 0, creates all sorts of possibilities in the future 

classmate question: how did he explain fixed cost would be covered? what about this notion of fixed costs? how do these costs get covered? addressing these kinds of things in the paper
analytical, somewhat emotional,


the internet of things: only expanding, new infrastructure, distribution channels, 
· massive amount of interconnected data. so then the question is so what? what opportunities does that create? supply chain compressed. skip steps in production process, margin gets lower
· if think about internet of things as rifkin envisions it, what does it consist of?
· sensors of all kind that are attached to various parts of our lives that provide continuous data on what’s happening. sensors connecting 
· everything connected to everything else in the sense that it provides data of what’s happening there, at that point of where the sensor is located
· tug of war between vision of info widely available, and privacy, where should the boundaries be drawn, what should be widely available
in his paradigm, consumers can be producers 

saying people care less about privacy. what i as an individual am willing to put out there?  


collaborative commons- would benefit developed countries a lot faster 
access to all this information that in a sense is free 

company- will put cost up front, free internet 
people do transfer money, ever time they transfer money, will take a little bit 
how to pay for the infrastructure bc the technology already exists 

dialectic at work- marxism- gradual shift that’s peaceful, or revolution. if inevitable, how is it going to happen 


thoughts: need government to create economic policies 
new york times- universal income article  
politics of incorporation…  

3 domains where internet of things going to take hold, “change the world"- energy, communication and logistics. complex argument, but provocative  

Pro-sumer- possible for every consumer to produce their own goods, for free 
designed to communicate we are consuming what we produce 

3D printing-  
seems to be implying that there will be a point where anything you want you can print 
seems a little futuristic 


social enterprise- Nick’s definition; there’s a consumer in the end of it, you as a producer is selling consumer something. usually has an economic price towards it. social part is social good towards something, that has social mission attached to it 

what’s the role of government in all of this-  
what happens to government 
gvt has role in breaking monopolies down, monopolies halt innovation  

what do you think government’s role is, what is actual role of gvt plays very specific role in society, then add on what’s the role of government in analysis going to be in the future (zero marginal cost)
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